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QUESTION 1

What does the system do if you have not entered a count for a tag during physical inventory process? 

A. It will adjust your on-hand balances down to zero quantity. 

B. You will not be able to post without a quantity for every tag. 

C. Any adjustment will be rejected. 

D. It will consider the current system quantity. 

E. A warehouse person will be notified. 

Correct Answer: A 

 

QUESTION 2

How do you specify a default error page in your web.xml file? 

A. /general-error.html  

B. * /general-error.html  

C. * /general-error.html  

D. /general-error.html  

Correct Answer: B 

Reference: http://www.codejava.net/java-ee/servlet/how-to-handle-error-in-web-xml-for-java-webapplications 

 

QUESTION 3

Which is a valid description of REST? 

A. REST provides the same architectural properties as SOAP. 

B. REST is a library that is part of JEE called JAX-RS. 

C. REST is the conventional way of interacting with information resources. 

D. REST is a Web Services standard supported by JEE and JAX-RS. 

Correct Answer: D 

Reference: https://docs.oracle.com/javaee/6/tutorial/doc/giepu.html 

 

QUESTION 4
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Your supplier sent you stock against a consigned agreement. You transferred at the stock to owned and generated a
consumption advice. An invoice was raised by the supplier and the payment made. A few days after using some of the
quantities of the stock, you realized that some of the stock sent by the supplier is not of suitable quality and you need to
send the stock back. 

What is the process of returning the material? 

A. You have to cancel the invoice and send the material back without changing the ownership. 

B. Return the material and create a debit memo for the supplier. 

C. You cannot return consigned items that are invoiced and paid. Treat the material as scrap. 

D. You have to transfer the ownership of item and perform the return transaction. 

Correct Answer: B 

 

QUESTION 5

Which statement is true about the WS-Security standard? 

A. It is a Java EE standard for protecting SOAP services. 

B. It relies on HTTP security mechanism to protect SOAP messages in transmit. 

C. It provides message-level security. 

D. It defines protocol-specific ways of protecting SOAP messages. 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E19226-01/820-7627/gjiou/index.html 
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